PK17306 - PKXTV3G22D - AR
(TECUMSEH ONLY)

Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com


andrew.carlson
Rectangle

http://www.allpartsinc.com/mmAllParts/Others/ar-2944.pdf
andrew.carlson
Typewritten Text
Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com

http://www.allpartsinc.com

PK17306 - PKXTV3G22D - AR PARTS LIST

Key# Part # Description
1 AR-1322730 Screw

7 AR-1260162 Plug

8 AR-960160 O-ring

13 AR-1260151 Piston Guide
19 AR-1260790 Circlip

23 AR-880130 Oil Plug

31 AR-1260760 Screw

32 AR-1329010 Complete Cover
38 AR-740290 O-ring

39 AR-880530 Plug

40 AR-1322990 Pump Head
68 AR-1321190 Bearing

75 AR-650610 Screw

77 AR-1320060 Motor Flange
78 AR-1200430 Screw

84 AR-1321080 Snap Ring

85 AR-1381550 Washer

89 AR-650530 Washer

a0 AR-621710 Screw

91 AR-1322640 Washer

92 AR-380241 Washer

93 AR-1321520 Motor Flange
94 AR-1266740 Cover

A AR-1864 Valve Kit

B AR-2628 Plunger Kit

C AR-1860 Oil Seal Kit

D AR-1866 Water Seal Kit
E AR-2944 Unloadel

General Information:

30W non-detergent oil, 9.92 oz.

Fill to the middle of sight glass

Replacement part for XTV3G22D, Kit contains: 16858 pump (PXTV3G22D) F035
quick connect, H140 chemical hose, 16829 adapter (inline filter),P448 key,
PHR20AP adapter plate, 15171 screw, 3/8 (qty 4 pump to adapter ), F107 lock
washer, 3/8 (qty 4 pump to adapter),P808 screw, 5/16-24 (qty 4 adapter to engine),
P809 Lock washer 5/16 (qty 4 adapter to engine), 16506 thermal relief, FO50 3/8”

plug

Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com


http://www.allpartsinc.com/mmAllParts/Others/ar-2944.pdf
whough
Highlight

andrew.carlson
Typewritten Text
Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com

http://www.allpartsinc.com

PK17306 - PKXTV3G22D - AR REPAIRKITS

AR-1860 Oil Seal Kit AR-1864 Valve Kit

AR-1866 Water Seal Kits AR-2628 Piston Kit

Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com


andrew.carlson
Typewritten Text
Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com

andrew.carlson
Typewritten Text

http://www.allpartsinc.com



